ITI Turner 1st Year Module 7 Taper turning & Templates

(1). Which part of the combination marked as 'X'? | PHIFIARM o [ g HRT DI "X’
& U ¥ ffgd forar o g2

(A) Protractor head | Ehéﬂf?%_ér
(B) Square heads | W%_S'

(C) Rule | *=d
(D) Centre head | @ET%_S

Correct Answer : A

(2). Which element of taper is expressed by number in metric taper? | R &1

B T ded Wi TR T TReA R e foba SiTaT 82
(A) Length | €T

(B) Bigdiameter | ISl UM™Y

(C) Small diameter | BICI M

(D) Angle of taper | CUR &b HIUT

Correct Answer : B

(3). What is the formula used for finding the amount of offset for taper turning? |

SR AT H AT & AR HdTa &1 g |1 82
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Correct Answer : B

(4). Identify the part named as ‘X’ in a taper turning attachment. | TR EIE‘"I

3egde H x’ AMHS YT &) Ugam |

(A) Locking screw | EW@
(B) Box nut | CIER G
(C) Guide bar | TIgS dRR



(D) Base plate | CRRYS

Correct Answer : C

(5). What does the letter ‘S’ stands in the equation d=Y-2 (s+r) in taper

measurement? | TR AU & JHIBRT d=Y-2 (s+r) T 3feR s Wmmé?

/|

]
]

(A) Diameter over the roller at large end | a%’ﬁﬁq? IR BT A
(B) Diameter over the rollers at small end | Bic R IR BT AN
(C) Radius of the rollers | NN CARES]

(D) Distance from the center to the roller of the end of the component | IR B

% Y BT & [hIR dP P gl

Correct Answer : D

(6). Which precision measuring instrument is a application of screw thread? | ﬁ:[

T I HIUS SUHR] & IS BT SIUANT 87
(A) Vernier caliper | WW

(B) Dial test indicator | SIUd RRY ‘é%abdﬁ

(C) Boredial | IR STd




(D) Micrometer | Wﬂﬂa

Correct Answer : D

(7). What is the element of taper marked as X? | X %Wﬁﬁﬂ%ﬂmww
HIdd AT 5?

(A) Bigdiameter | dST UMY

(B) Small diameter | Slel gy

(C) Length of taper | %mﬁa‘qﬁ

(D) Included taper angle | Q'IT&IF[Q'I@W

Correct Answer : A

(8). What does the letter Y stands in the equation d =Y — 2 (s+r) in taper

measurement? | TR AU & JHIHRT d=Y-2 (s+r) T 3feRy WWW%?

/|

(A) Diameter over the rollers at small end | B RRIWINR & W A



(B) Diameter over on rollers at big end | afs’ﬁﬁfq? AR b HUR AN
(C) Radius of the roller | IR &1 B

(D) Distance from the center of the roller to the end of the component | IR B

% Y BT & [hIR dP P gl

Correct Answer : A

(9). How is the “length of sine bar “specified? | “HIg dIR Cal Q'idl‘ér” ﬁﬁ'ﬁg

H 82
(A) Distance between the centers of the rollers | A F $3|$@?{ﬁ§{\ﬁ
(B) Length of datum surface | ScH ddo Pl Q'H-GIISr

(C) Length of the rollers | Wﬁaﬁﬂé

(D) Total length of the sine bar | HIg- dliﬁgb('i Q’I*GII‘Qf

Correct Answer : A

(10). What is the name of the process? | WWWW%?

(A) Gas welding | ?ma%'ﬂ
(B) Braze welding | ESEIRE
(C) Arc welding | 3T aAfcgT



(D) Spot welding | Wie afedT

Correct Answer : C

(11). What is the taper ratio for a taper length of 20 units the difference in
diameter is one unit? | 20 SPIS! DI TdTg & [ATT CUR 3T AT BT 3R Th

DTS R 57

(A) 0.052083333333333

(B) 0.055555555555556
(C) 0.09375
(D) 0.13838838838889

Correct Answer : B

(12). What is name of the element of screw thread marked as X? | X & &g H

fefed ¥ 98 & T 1 TH 1 &2

A

(A) Root | VIS
(B) Crest | Shc
(C) Flank | fa=m
(D) Minor diameter | BT T

Correct Answer : B



(13). How is the vernier height gauge generally specified? | A IR WR IR
gT3c ol o1 fafRIB el forads gRT U Rid foran S g2

(A) Width of beam | S1H P SIS
(B) Height of beam | @ﬁﬁ@_ﬂé
(C) Thickness of beam | ﬁﬁﬂﬁth?lg
(D) Size of base | HIYUR hTHU

Correct Answer : B

(14). Which diameter the external threads are cut? | Eﬂ%ﬁ YN &l fpg o |
HICT STl 82

(A) Root diameter | ©IG b AT
(B) Pitch diameter | ICEakeIs
(C) Major diameter | UYHY UMY
(D) Minor diameter | Slcl Y

Correct Answer : C

(15). What are the ranges of morse tapers used on taper shank twist drills,

reamers and lathe centres? | %Q?%I@TS'EH IR @TW@WE@W
fopu o aTel F U Bt ST T g

(A) Oto4
(B) Oto5
(C) 1to4
(D) 1to5

Correct Answer : A



(16). Which one of the following taper turning method can be used for cutting

internal taper with power feed? | mﬁﬁﬁ?mmwwuﬂg
& I TARD TR Pl & fIE FXAAT a1 o Thl 82

(A) Combination of feeds | 1S @1 TaIo

(B) Tail stock off set method | Td TP 3ip e fafd

(C) Taper turning attachment | TR WS 3fcTHe

(D) Compound rest swivelling method | HHTIS W [gafeit fafd

Correct Answer : C

(17). What is the use of template? | WWWW%?

(A) Checking angles | CANEARSIE]

(B) Checking radius | ERICIIE]

(C) Checking contour of rolled plate | ﬁﬁ(’ﬂTﬁﬁ@@f? obg< CASIE
(D) Checking contour of cylindrical work | SATHR Bl B Obg\i CARSIE!

Correct Answer : B

(18). Find the taper ratio to turn a taper of big dia 50mm, small dia 30mm and
taper length 100mm. | EI%BEIW 50 ﬁﬂﬂ, Bl N 30 fHt iR -‘2ig> Cal Q’iGII‘Qf 100
fordt & T A ol e o oIl ip 3UTd &1 Udl Y|




(D)

Correct Answer : A

(19). What is marked as 'X'? | X'%Wﬁﬁl’%ﬂ?ﬂ%?

(A) Height | 3915
(B) Length | ?‘WI_SC
(C) Width | ATSTS



(D) Diameter | UMY

Correct Answer : B

(20). What is the name of the surface joining the crest and the root? | R GﬁT

TS I e aTch I &1 a1 1 62
(A) Hand | 8T
(B) Lead | SIS
(C) Pitch | fU=
(D) Flank | f&=m

Correct Answer : D

(21). Which part is marked as ‘X’? | ‘¥ gRI feifgd faar T HIT I AT 82

(A) Disc | [S¥®
(B) Dial | STId
(C) Blade | &S
(D) Stock | HUER

Correct Answer : B



(22). What is the reason for using dial indicator instead of scriber point in vernier

height gauge? | ﬁ?m%ﬁmﬁgﬁ 3V ST SISdheX SN
fohT ST BT I HRUT B>

(A) To check eccentricity | faa)*sidl CakSIE

(B) For accurate marking | J&H W%%’Q
(C) For accurate measuring | ﬁ@W%%’Q
(D) For good appearance | Wﬁ@ﬁﬁ%ﬁm

Correct Answer : A

(23). Identify the taper turning method. | TR i &1 fafy l:|6€|I|E|Q |

—

(A) Form tool method | Wﬁ@ﬁﬁ[

(B) Compound slide method | HUSS WSS fafer
(C) Tail stock offset method | ¢d Wik 3MRie fafdr
(D) Taper turning attachment method | SR i sregHe fafy

Correct Answer : A



(24). What is the use of the formula in taper measurement? | AR ﬂﬁﬁﬂﬁﬁ

R I G?

tan[—}:ﬂ
2H

) Jitgg
' ||;|__

1 i
o

b )

(A) Checking the angle of taper | TR BV DT ol
(B) Finding small end diameter | Bl R &1 g J1d ST
(C) Finding large end diameter | a%ﬁl%mamsnﬁm

(D) Finding the length of the taper | TUR &1 daTs JTd BT

Correct Answer : A

(25). What is the least count of vernier height gauge? | WWWW
3TUHID FT 82

(A) 0.001 mm
(B) 0.002 mm
(C) 0.005 mm
(D) 0.020 mm



Correct Answer : D



